Chiffres Romains (B)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

LXII = 62 VIII =
LIV = VI =
XLVII = XIII =
XCI = XII =
XXVII = XXIV =

XLIX = 49 =92

= 51 = 24

= 14 = 73

= 5] = 99

= 98 = 34
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Chiffres Romains (B) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

LXII = 62 VIII = 8
LIV = 54 VI =6
XLVIII = 48 X = 13
XCI = 91 XII = 13
XXVII = 27 XXIV = 24
XLIX = 49 XCII = 92
LI = 51 XXIV = 24
XIV = 14 LXXIII = 73
LI = 51 XCIX = 99
XCVIIL = 98 XXXIV = 34
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